JwaI /" EIU—-X

I 2x5%

VAR

f_dl_"t

M5:$8,M6:49 |

S ARt E

@IH(X
A = e h:i; L A ;}{;’g :"x.; © CIEE T
E R R R o T (mm) (mm) [ () | (a)
EC4-M5 4 M5X0.8 224 4.0 13 10.0X11.0 9.6 20 3.0 6.0
EC4-PT1/8 4 R1/8 18.4 8.0 13 10.0X11.0 9.6 25 4.0 7.0
EC4-PT1/4 4 R1/4 224 11.0 13 14.0X15.4 9.6 25 4.0 17.0
EC8-M5 6 M5X0.8 242 4.0 15 12.0X13.0 1.7 20 35 8.0
EC6-M6 6 M6X1.0 25.2 5.0 15 12.0X13.0 1.7 3.0 45 10.0
EC6-PT1/8 6 R1/8 21.2 8.0 15 12.0X13.0 17 4.0 10.5 8.0
ECB-PT1/4 6 R1/4 24.2 1.0 15 14.0X15.4 1.7 4.0 10.5 18.0
EC6-PT3/8 6 R3/8 25.2 120 15 17.0X18.5 n7z 4.0 10.5 32,0
EC8-PT1/8 8 R1/8 26.2 8.0 16 14.0X15.4 13.7 5.0 20.0 14.0
EC8-PT1/4 8 R1/4 252 110 16 14.0X15.4 137 6.0 25.0 16.0
ECB-PT3/8 8 R3/8 26.2 120 16 17.0X18.5 13.7 6.0 26.0 29.0
EC10-PT1/8 10 R1/8 30.1 8.0 19 17.0X185 16.7 50 25.0 24.0
EC10-PT1/4 10 R1/4 281 11.0 19 17.0X18.5 16.7 8.0 40.0 21.0
EC10-PT3/8 10 R3/8 29.1 120 19 17.0X18.5 16.7 8.0 40.0 29.0
EC10-PT1/2 10 R1/2 321 15.0 18 22.0X24.5 16.7 8.0 40.0 61.0
EC12-PT1/4 12 R1/4 34.0 11.0 20 19.0X21.0 186 8.0 45.0 32.0
EC12-PT3/8 12 R3/8 30.0 12.0 20 19.0X21.0 18.6 10.0 50.0 31.0
EC12-PT1/2 12 R1/2 330 15.0 20 22,0X24.5 186 10.0 50.0 58.0
EC16-PT3/8 18 R3/8 416 120 27 24.0X26.5 245 10.0 77.0 68.0
| EC16-PT1/2 18 R1/2 436 | 150 a7 24.0X265 245 _Lu.o 1105 | 830
HBTEER
@1 FH1X :
P *;E’ ‘?-:!';‘ O ;;{-g Soe |cmw| 0 | o |vem xn
oo | WS | o | o | | G| G | o) | o) | e |
EC1/4-M5 1/4 M5X0.8 244 4.0 15 12.0X13.0 4.0 120 20 3.5 8.0
EC1/4-PT1/8 1/4 R1/8 214 8.0 15 12.0X13.0 4.0 12.0 40 12,0 8.0
EC1/4-PT1/4 1/4 R1/4 244 1.0 15 14.0X15.4 4.0 120 4,0 12.0 18.0
EC1/4-PT3/8 1/4 R3/8 254 12.0 15 17.0X185 4.0 120 4.0 12.0 320
EC5/16-PT1/8 5/16 R1/8 259 8.0 16 14.0X15.4 5.0 138 5.0 20.0 14.0
EC5/16-PT1/4 5/16 R1/4 249 11.0 16 14.0X15.4 6.0 138 6.0 25.0 16.0
EC5/16-PT3/8 5/16 R3/8 259 120 16 17.0X18.5 6.0 139 6.0 26,0 29.0
EC3/8-PT1/8 3/8 R1/8 29.7 8.0 19 17.0X185 - — | 188 5.0 20,0 240
EC3/8-PT1/4 3/8 R1/4 217 11.0 19 17.0X18.5 = 16.9 8.0 35.0 21.0
EC3/8-PT3/8 3/8 R3/8 287 12.0 19 17.0X185 ~ 169 8o 35.0 29.0
EC3/8-PT1/2 3/8 R1/2 3.7 15.0 19 22.0X24.5 = 16.9 8.0 35.0 61.0
EC1/2-PT1/4 1/2 R1/4 34.0 11.0 21 19.0X21.0 = 19.0 8.0 48.0 320
EC1/2-PT3/8 1/2 R3/8 30.0 12.0 21 19.0X21.0 — 19.0 100 66.5 31.0
EC1/2-PT1/2 I 1/2 Ri/2 33.0 15.0 21 22.0X245 == 18.0 10.0 66.5 58.0

B 1 FH R -ZMIBEL TV ER A,




